BRI HIERE LR FEAR RESULT

A : FR28E9F18A(A) X : MEAEY

PN E FE25EM A INERE L RITRFERR wB A BE
(16270713) E¥HE R
= 5 WATILRE L35S R EE INGR ZRBA
(273120)
* WAMELHEERS
BMATHEZES
NI FEAR S REH=
—RkEFOM
=] B K % |FE4 8% 5| K % |FE4 o8k IE| K % |FE4 FCE% IE| K % |FE4 8%
—EF +0.9 1 [EB  HERt  |xmusxz - |GR 10.76 2|AHE WA |xmEmLE - 10.86 3|%@m #HN |re-erzx - 11.12 48K E— |xmEmxz - 11.15
100m 5 [$T £ |xmEmkr - 11.18 6 [l £ |[re—erx - 11.22 7|5 BBE |AmERcE - 11.41 8 [db)Il  1E—ER |xmEmAr - 12.71
—MBEF 1 |tEA R |xmEmxz - |GR 48.05 2 |[tE4<AK @ [BEFEKXKE - [GR 4849 3|FEHE K& |[xmEExz - 52.17 4 |BN gER |BEXE - 54.00
400m 5(|FEE Bt [EmXE - 54.06 6 |&)Il HAN |[re—Erx - 56.58 hE —H |EEAE - DNS Jason Stayanchi|z2—ELx - DNS
—MEF 1[=ZR & z2a—erz - | 412770 2 |AIL =8 (EmKE - | 422746 3T #er |rz—erx - | 424706 4 (mJI 3 KRT%EXRE - | 428785
1500m 5|8A KE |[EmKRKFE -| 431730 6 [y 3 |msesEsz - | 435788 7 LA A |ssers-x - | 436717 8 |t FE |xmTzxz - | 437750
—MEF 1| && R |grzzs-x - [1623778 2 [Bx FEE |EK - [ 1628721 3|HR &M |wrwrs-x - | 1635746 4 [FRZFE FO®  |speas-x - |[1723732
5000m 5| ARH = #pers—x - | 1769790 6|lEH B KIRTEXE - | 1801797 7|8 EE  |srers-—x - | 1854768 8 |/NFk Bk |#HRER - | 1955783
— BT FH BH |xEEEKE - mA Ft  [xmEEcz - = WHan [ xe—enx - 2 e | ARERXE -
3584 X 100myL- 118K B— |[xmaEmxs - 20 B | xmEmxz - 3|%E N |rs—erx - 4|22 BA | xmEmxe -
T & [xmEmxr - 4178 BE B | xmEExz - 42.25 Kith &3} |zs—erx - 42.84 BH BHh|xmEEcz - 46.44
eIl E— R | kmEs - HEE EE | xmEmky - B R— |zs—trx - T BE | kmEEcE -
f@)Il FME |r&-Erx - R BN (BAEAKX -
S5[FL % AE—ELR = 6[/RA 5= BmaA R -
FI Wz |[re—erx - 4748 KR tHE |BERENK - DQ1-2
s & AE—ELX - R Bk BmA R -
—MEE B 188 % |REsdke - 2.06 2 | = KIREEARE - 2.00 3| K# EE |xmEExz - 2.00 3|FI HFE  |xmERxE - 2.00
3|EEE B |[xmEEKE - 2.00 6 [T #EH |xwEmxzr - 1.95 7|&ZHIL K#y  |xmeERe - 1.95 8 |#HHE AFE |rmEmxac - 1.80
— % E Rk 1|1BAR MK |[xEERExE Tm04|+16 || 2 |HFZO EX |xmhEARE - TmO0[+1.3 || 3 |EF L& [WAS - 6m97|+28 || 4 |HE K& |xmEEXR - 6m82|(+2.2
5|FA BME |xmmuxz - 6m74(+09 [| 6 [BFO EH |xmEmxz - 6m72(+04 || 7 [#E HE |E@EsSK - 6m62(+3.0 || 8 [FAEA XFE |xmEEAE - 6mb58(+0.1
— MRt 1T ER XF |HWHEH 13m17 2 |7 K% [NOBY -| 12m18 3|RE BX |%FREEH -| 11m70 4B #=EONNT - 11m42
6.000kg
— oY ®IF 1|k#F KLt |[xmEmxs 50m97 2 [ILE Ft |xmEEke - 50m49 3k EX WAER - 46m68 4 |fER Kb |[xmEmke - 44m99
5 |EH FlZe |[xmEExz - | 44m32 6 % Hth  [HAREERH - | 43m32 7 |ZRFEY « R |AEEEAS - | 38m54 8 |=#tE KEF |wwmwanosr - | 38m43




—REZF O

A= B K % |FR% ECEK B K % |FER% oK B K& % |FE% o8k B K& & |FE% T8k
—BEF +1.6 1 |BEm E® KIREIEAZE 12.68 2 (=vE  RE|xmEmxe - 12.73 3|¥HA REF |rs-erx - 13.00 4 |&H EE |[mmmExe - 13.01
100m 5|8 KR A |[xmEKRKS 13.31 6 /NGB IERD  (mesmsexe - 13.43 7 |l BeF REBERE - 13.46 8 [ =M AREEASE - 13.58
_ﬁQﬁ%l 1= 52 KIREEA S 11’007 46 2 |RE A |xmEpxz - [1114793 3(AF BHE |[xmEmxz - |1132789 4 1L Kk |xmEEREXz - (11747700
3000m 51EF FEDF|xmEmAs 12'01767 6 JEFR (EEZE|srwzz-zx - |12'21798 717188 T XRERAE - [12'25765
— R F Bk BT |REkesx
$£584 X 100miL- IR &9 E|sExsxnx

L BE |mExemx 50.67
TH EE  |REzaR%
— R ES 1[EE RE |[xmERxs 1.65
— & E BBk 1 (82 BY% |[xwEmxs 5m33|+1.5 || 2 AR #HFE |xmEmiz - 5m20|+0.7 || 3 [J\AR bRIB [xmEKAE - 5m19|+0.0 || 4 [AREF A% |[xmEEXxz - 4m90|+1.7
5|EHR EF |EAENK 4m60(+0.6
— R 11 ER BAEE  |[xmEmks 8m22
4.000kg
— g Y T 1Rk BF |swnxrxz 40m02 2|%@m F# |xmEmxz - | 38m90 3|fEAR Fi  |xmEERxz2 - | 32m74
HEBFOM

b= B K 4 |FR% EREzS B K £ |FR% ek B K& % |FE% Lok Bl K& % |FE% Ht
HFEEF(-03 1B BE— |%8957 11.98 2 @)1 FE |re—erx - 12.46 3 |%m BB WAHRER - 12.60 4 NR fe |(HFEERm - 13.25
100m b |EkE RE | KRER 14.15
HEBETF NEEERZ W EYS 9'36"58 2 Mk E£F |wrvzs—x - | 945784 3|=% Etb |WohHREts - (1030744 4R TE  |wsers—x - 1107790
3000m 5 |dt8F 1EBR |musvr—x 11'43770 6 [XZiE m wHwze—2 - 11261734




INEBF O

A IE| K& & |[FE4 Er=d E| K& & |[FEA Erzg IBE| & & |FR% Eirzg IBE| & & |FR% Lk
INEETZ[+1.0 1 |#WB @AER|HKscmws 6 1451 2 [ [EE |vkscmsm 6 1472 3 H#k EAB|HkscH® b 14.79 4 3B Fdk HKscw®) b 15.32
100m b4 % HKSCER) b 15.70 6 |=VYH [ |HKkscwm®m 6 15.74 7|FER Z= K |HKkscE®) b 15.82 8 [/N)I] 1Bt |HkscEm) b 15.97
BFI/NFE 1188 KL |[Axscoma 6 2.31.46 2 |MK B HKsCUII#) b 2.38.98 3 (&) I HKscHe) b 25051 4 |E BEKXKER|HKkscusx 4 2.59.88
800m b [HhiE B Hkscon) b | 3.09.77 6 [N FkAK [|Hxscw=m 4| 3.10.59
INEBR T b [EIE |HKSC-A 6 WA B HKSC-5A B HE - |HKSC-B 6 FR Z&EK |HKsc-5B b
@4 x 100mL- 1|1# 8 fRABR[HKsc-A 6 2|5k & HKSC-5A § 3|=vB @ |HKsSc-B 6 4/ KE |Hksc-sB B

&8 i |HKSC-A 6 59.05 B OE Hksc-5A 5| 1.02.28 AT S Hksc-B 6| 1.02.94 Bl & Hksc-58 5| 1.03.01
EE O OBEKX HKSC-A 6 FHk EABA|HKsc-5A b INFE BK HKSC-B 6 NI B |HKksc-5B b
INFg  EZE HKsc-5C b BA K HKSC-4A 4 = % HKsc-C b B EFH HKSC-4B 4
5[/hL HE HKsc-5C b 6|Z )| BEAXKER|HKSC-4A 4 710 AKX HKsc-C b 8likpE K= HKsC-4B 4
hiE B Hksc-s5¢ 5| 1.03.66 = R |HKksc-aa 4| 1.04.83 HERE X HKsc-C 4| 1.11.561 O E#E | Hksc-48 4| 1.12.60
B s HKsC-5C b R Rt |Hksc-4A 4 =M f@ABA|HKSCc-Cc 4 BI BEKX |Hksc-4B 4
INEEET B 1 IR EA|rkscusn b Tm10 2 /N = |Hkscuna) b 1m05
INZENR B 1|/hNFgE BK [HkscwEw 6 3m94 2 |/kiE BEAN  |HKscuw® b 3mb1 3 (ax B HKSCHE® 6 3mb1 4 NIl REfR |HkscER b 3m25
5|BR FZ |HKscEHE) 6 3m05
INELZT DR

EH B & & |FEA Rk IBE| & £ |FE% FLE% IBE] & & |FE% FLE% IB] & & |FE% Lok
INELZF(-0.3 158 WE [Hkscumw 6 14.49 2 |lUEH —% |HKkscx#db 6 14.87 3 |EEF k3 |Hksceaw b 15.03 41 E #F |pkscxw b 15.35
100m 5 |E2 -+t |HKkscE=m 6 15.55 6 |MH8 MEFT  |HKscEm 6 15.67 VR E3 N HKscEm b 15.95 8 [/KI B#F |HkscEm 6 16.16
TFINE 1=y FEE |[Hkscwm b 24210 2=l EfE |Hkscwmm b 24249 3 |=FER = HKsc(&BR) © 24259 4 |NfE FEE  [Hkscwzm 6 24545
800m 5[4t W |rkscerm 6| 24562 6 |BRHE E#% |Hxscwm-) 6| 25352 7181l FAB  |Hkscoa) 5| 258.05 8 | mxifs |Hkscwa) 5| 3.01.67
INSEA T NiE m3¥ |HKSc-A 6 ¥l ®E |[Hksc-sa 5 ig wE |HKSC-B 6 KI B#HE |HKsC-C 6
&4 X 100myL- 11HJ)Il —Z |[HKSC-A 6 AE3 HKSC-5A b 3|BEH #E%F |HKSC-B 6 4|iE82 +£¥E |HKSC-C 6

FE E |HKSC-A 6 58.83 Mt #%F |Hksc-5a 5| 1.0054 WE #%F |HKksc-B 6| 1.01.47 BAR H&GH|HKSC-C 6| 1.02.18
IWEH —% |HKSC-A 6 HEEY k3 |HKsc-5A b BE FT&F |HKSC-B 6 A EIF |HKSC-C 6
B R |HKsc-5B 6 JEA BEZE |[HKSc-D 6 ST A4S |Hksc-sc 5 B’BA FIB |Hksc-aa 4
5= =B |Hksc-5B b 6|=FHB 2 |HKsSC-D 6 71811 #B |Hksc-s¢ b 8|4+t HHI |Hksc-4a 4
e AIRE|HKksc-58 5| 1.05.26 B EZmM[(HKsc-D 6| 1.05.53 Ak 3 Hksc-5¢ 5| 1.09.38 B #&F |HKsc-4a 4 DQ3-4
=l EfE |HKksc-5B b it AR |HKScC-D 6 PEH fEE8 |HKksc-5¢ b MH HAY|Hksc-aa 4
INFERB 1|#RE F& |dxsca®m 6 [GR Tm35
INSEFENE B 1R #&F  |nkscern 6 3m87 2 |BEK BEE |[HkscH® 6 3mb8 3 |BEH % |HKkscwm) 6 3m03




HEEBFOH

=R B K& & |[FE#A Rk B K& & |FE#A Lk B & % |FRE% Lk B & % |FE% ALk
REBF|+16 TEE =6 |[HE= 3 11.53 2 |BH E REA 2 11.83 3|FH e |E 3 11.89 41BN B [F H 3 11.98
100m 5|88 s E 2 12.12 6[#BHE MK |KAHE= 3 12.13 7|RB A |#EAE 3 12.42 =H EX & & 3 DNS
R8T (+0.1 T|EB B |m E 3 23.11 2 |k FNH (%A 2 24.04 3|F&E & GRES 2 24.36 418 MK | E 2 2442
200m 5 ¥k &SN ETIE 2454 6\ BXH |REAE 3 2455 7|9HE HE |EEERE 3 25.09 8|ET® M |REA 2 2517
BT 1| A* £F  |HALE 3 51.64 2|8R A (%A 3 53.19 3|t B s E 3 56.74 41EE BHFE (K A 3 56.82
400m 5|93 =N |[REZ 2 57.40 6 [dbi ZEF  |[EEAM 3 58.50 7 |AR ER O |HKHFILE T 59.88 BA EE P E 2 DNS
BFeE 1[ZB ¥ |[%kF= 3| 15932 GR || 2|(&H EX | A& 3| 2.0843 IR =F %A 2| 20979 4|1n xE  (HOE 2] 21041
800m b |BEA BEA  |[%Hm 2| 2.11.07 6lIEM A (& K 2] 21241 7|mil B/E |ABEZ 1| 21478 8 |# HE s = 3| 21874
BT T8 KE [REE 3| 945736 2 |feh BB K 3946753 A —F| | E 2] 948765 41N BEZ |REE 1| 962708
3000m b &M —tb |[# 3] 965756 6| B& |HEE  2[1000749 7 |ISE FEAE  |FEAEKXM 110113704 8 |#IL B [EEE  3[1017767
hE8F +05 1R &N B A 1 14.06 2 [l BH/  |HKo5A 2 14.37 S|IAT Bt |& & 2 1459 4| Rt |HFLAE 2 14.62
100mH 5|FF BE |[WESA 3 14.91 6|TiE B |#&ALA 2 15.04 7|WAY Fogr o (RERE 3 15.06 8 |E@ RN | F 1 16.12

BT S =N BAE=Z 2 WA 15 = £ 3 AT HE ® B3 #HE BA  |#ALA 2

FH384 X 100myL- EE = wAE=Z 3 21RE X = 2 3| W F A 2 4llLW EF | KHLE 2
RE &R mAE= 3 45.80 BE I s £ 2 46.29 B BN ® A1 46.48 ZT BB |(#HALA 3 46.55

EH ¥ ®AEZ 3 AT B s 22 R EA w A3 A EH |KALA 3

A RE R 3 AR KR FH O3 mx KE REA 2 T B WE 2

S5|B& Aff FERE 3 6H B p=a == 18R & RERE 2 8|&H# ET ¥ E 3
S HER 3 47.04 HFR A FH 3 4711 2T REA 2 47.26 FE B WOE 2 47.83

& OEN GETEIEE i B F B 3 N\ BKE | REAE 3 A —i wWmE 2
hEES B 13 BF |[WAERE 3 1m79 2 |BH B (& £ 3 1m70 3|K#t BN |HHEZ 2 1m65 41F@E FZE |& £ 3 1m65
5[FHA W | = 3 1m60 6|+ —IE A 3 Tm60 7[R K (& 2 Tm50 8|9 BE Z 3 1m45

R EIRRk 1(F1E R  |[WEA 3 |NR7m40|-13 || 2 Ik BE |& £ 3 6m17|-1.1 1 3 [&FT ®iE |%HWLE 3 6m03|-0.1 || 4 [&@k BX |KHRE 3 5m93|+0.5
S5|RE BA |WHE= 3 5m77|-0.1 | 6 [HE%F CHE | = 3 5m66|-0.2 || 7 [#JR BEXER | 7= 1 5m43|+0.1 | 8 |A)Il BailE | & 2 5m28|-0.1

RN 1| TE B RS 2| 13m05 2 [3hH B |WEAE 3| 11mig 3 |# & |[mH— 3 9m91 4|4 BA  (RBFLE 2 9mb4
5.000kg 5[ A | E 2 9Im11 6| B= |& £ 3 9m06 7|B% BAR | ZE 2 8m99 8 [#H & |REE 3 8m76




REZF DE

=R B K& & |[FE#A Rk B K& & |FE#A Lk B & % |FRE% Lk B & % |FE% ALk
R F|+16 TR FH o |(%osm 2 13.11 2| B A s E 3 13.20 3N RKE (A= T 13.26 4 |8TE &% |(REFE 2 13.46
100m 5|8L A B2 2 13.60 6 |IUA E# 7 1 13.97 7|hdh BE (A — 2 14.02 8|5t & # H 3 14.09
LT |+0.7 1| BRARX & = 3 27.20 2|FR IBE (%A 3 27.79 3| FE |REA 3 28.01 4lmEe XXE |E H 2 28.50
200m b |3 £E [ E 3 28.87 6|lkE BX | A 1 29.02 7\|FE 0E |EEER 2 29.16 8 |HZH e |[HHm 2 29.42
ZFPE 1|F%E B |& 3| 2.20.36 2 /MR = |REFEE 3| 22992 3|#E EX |T £ 2] 23181 4|1HF KR |BFm 2| 23222
800m 5 |fil R [& 2| 23543 6|AF B |[f = 1| 2.36.54 I RE |[WERE 2 DNS FEH WA |RARE 2 DNS
R F |+2.2 TIEA =8 | A 3 11.87 2|3#E R (W OE 2 12.70 3|&M ¥ |WAH— 2 12.81 4|a0 R |HER 2 12.95
80mH b |3z ¥ |[HHILE 2 13.00 6|&H £ |& £ 2 13.04 AEEES 7 1 13.35 8|H =& | F 1 13.76

L Al ¥c |E E 3 KN FF | 2 AIE EE |RmEA 1 =M p¥ | £ 2

F3@4 X 100myL- T|F% & s E 3 20N &< B |7 1 3|/0 Bk (HEEEA 2 4lmr R | £ 2
Wil BHEXE (& £ 3 52.21 g = # 1 52.45 FE R rEEm 3 53.05 BH =¥ |T E 2 53.47

wHF EZE (& L 3 BL AhA | 2 Bl B |fEERA 3 W Heny (s £ 2

e B2 [F H 3 BE #&H |REA 2 £ XIE (W OE 2 A EET (mAmE 2

S|t Z p= g = 3 6|ATH &% |REA 2 7L FTR | OE 2 8|dLAt XM |®msEm 2
£5 BE |E H 2 54.07 weE F& |REA 3 54.34 BHF FYUH (W E 3 54.46 Z =4 |HFm 2 54.86

e XXE |E H 2 FTHE B | REA 2 S BE (W OE 2 FE BRR |%Em 2
hEES B T|8HF FYH [ E 3 1.45 2 |BA T# 7 1 1.45 3 |tkk Bk |RE#AE 2 1.35 4| mF O |AE— 3 1.35
5|MEH BX [KERE 2 1.35 6|K&EHR BEF |H— 2 1.35 7Bl B |REAE 1 1.35 8 |¥H NE | F 2 1.30

s EiRRk 1|& BE ® A 2 4m71)-02 || 2 |35 BE |F H 2 4mb4|-04 | 3 |/ B BAERE 2 4mb2|-05 (| 4 B &R |HKH= 2 4m45(-0.7
51/l &< [#2 1 Am44|-02 || 6 &% B |F = 1 4m42|-0.8 || 7 [RK)II #FIF  |# 2 4m34|-0.2 || 8 |#&E#A B |F H 3 4m23|-0.7

RN T|Rs #E  |HFEA 3| 10mIl 2 |E% XNE |M OE 2 9m86 3 |FH BE/)\EE |HERA 3 9m77 41FE BR KA 1 9m71
2.721kg 5|&R BHBE | £ 3 9m15 6|FER H21 A= 1 9m13 7| EW |MEA 3 8m68 AGEEES T 2 8m68




R&4 B2OMEM AT INEE L FRTRFERS b 7% WA BE
(16270713) = ¥ Réovy W BEE
= 5 WAMILRE LS SCExEME INGE FwAA
(273120)
¥ WATRE LSRRGS
WMATHEZEES
NBHEEAR A EEG S
— & BF 100m
8 | B | &EES| K 2 | Ry ¥ ek | || BS K 2 | ERE ¥ =0 Bk
11 1 187ESS  FEART | KAz - 10.87 2| 1 [2704|%H #N Z5—ELX -] q|11.09
2 _[1761[Ae)ll  B—BR|xmEERXxE —[g[11.12 2 11732|48 BF |[xmEwxz -| [11.27
3 [2631 J:ﬁ T YN 11.66 3 | 1743 |FF  Fits KRERAZE -~ 11.39
Bl 4 [1760]% e |xwEmxe - 11.62 B 4 [2699| kKt &3} AZ—EJLX — 11.77
0] 5 |5586|BE FBAK |r%—brx - 11.82 0.7 5 [1770|&=H #HE RIRERKSE — 11.92
m| 6 [1862(%Ek A [BEAF - 12.00 m| 6 [b721|K#E & WA EER - 12.43
2701 4R K B |r2—ELX - DNS 7 12219|#H =15 RIREREASE — 12.655
2705|834 H AZ—EJLX — DNS 2707|48 #H#o Z8—EJLX — DNS
3] 1 [1756|/E F;E |[xmEmkz - 10.82 41 1 [1748|)8H BHr AREBASE - 11.33
2 [1771|8K B— | XEREEXZ - 11.19 2 (1860|918 R& EmXE - 11.38
3 |12713[E Bk |z4—eix - 11.20 3 | 5687 |mEE R— AB—ELX — 11.49
Bl 4 [2191|F84k  $k ESCip) NS 11.40 B 4 [1197|HE F% RRIERFE — 11.65
1| 5 |5415|&EK $HIR  [RE—ELX - 11.42 08 5 |1791|¥xH #HX EIEE I NS 12.09
m| 6 [1816[dtx FIX [EEXFE - 11.84 m| 6 |[bb8b|EH WHEE ZH8—EJLX — 12.38
7 12259|it5c B [KAREEKXE - 12.46 17414 Kb RIRERRSE — DNS
| 1742|F#E 2  [xmErss - [DNS 2068 | = MY |zz—enx —| IDNS
51 1 [1739[3ET f£& [xmEEx® -|q|11.16 6] 1 |1755|FP9 sk  |xmEExz -[q[11.27
2 [2706|A Eib ZE—ELR — 11.40 2 |1740|% EhE KREBERFE — 11.27
3 [1737#8 EE |[AmEExE - 11.88 3 100545+ #HXK BEAKRE - 11.54
Bl 4 174918 BA  [KmEmx® - [11.96 Bl 4 [1842|4)Il A EmAE - 1197
0 5 [1787[3kx_A# |E#@mIK -| [12.01 04| 5 [5716|%M &= |[xs—trx -| [11.97
m[ 6 [2970[& 1 3=  [xs—€rx -| [12.24 m[ 6 [1744[lL0 ¥ [xmErAz | [12.16
7 11033/ ez FnEk  [xwmmEs —| [12.26 2710 %= Z5—eLx —| |DNS
1848’57 = |ET@AF | [DNS
& | & =5 K % ERG F S8k
1 187|1E87 Tt KRGERE - GR 10.76
2 1756|AH A AREREARE - 10.86
3 2704|%H $HN Z2B—ELR - 1112
B 4 1771 |18K  BE— AREREARE - 1115
09| 5 [ 1739|3&:T éﬁﬁ KRERAS - 11.18
m| 6 2713| Ll & 2A—ELR - 11.22
7 1755|598 HBdk AIREEKRE - 11.41
8 176113b)11 [E—EB | KREEASE - 12.71




—fi& BF 400m _ .
8 | B | &S KE 2| FRE F il Lo - - x=1 =Y £ | ERE ¥ S0 &k
11 1 639|1E4 K uE |BEFEXE —-|q|51.64 20 1 12353[shj/& —& BERAE -1q]49.86
2 [2712|F)I HAN |rz—erx -[q[54.07 2 [1746[;0H #£8  |xmEmxs -[ g [51.88
3 |[1864|H4 fF9r |EEKXE —[q[54.12 3 [1766|[FH X% AREBXS —[ 9 [53.52
4 |1841|EE Bt [EBEXZE -|q[54.36 4 |3233|Jason Stayanchi|zz—trx -| q [54.91
b [5463|dJIl BEth |[zz—erx - 15570 5210/ 8@ m&m= |x#—crx —| |DNS
17453 BEK |[xmEExz - DNS
| B = K £ EREF 50 8%
1 | 1746[E 4 KREEASE — GR 48.05
2 6394 K U EifipN= GR 48.49
3 1766|/RH K& AREEAE - 52.17
4 1864 |HA ISR BEEAE - 54.00
5 1841|3FFE BB BEEAE - 54.06
6 | 2712|F)l HEA ZB—ELZ — 56.58
2353|R  — EmAE - DNS
3233|Jason Stayanchi| x4 —EILX - DNS
— & BF 1500m R
EEEE v 2 | Ry ¥ A0k IBf] &= K £ | ERE ¥ S0 8k
11 1 |[2708|ZR &= AB—ELX — 412770 2 [1861|ANL =&k BERAE - 422746
3 [2711|FHFT e |[r2—ELX - 424706 4 126565l IH ARTEXRSE — 428”85
5 [1865[FB&K &I [BEKE - 4’31730 6 | 744|BBN fE== ATHEEER — 4’35788
7 [3040[ 1A @EF  |[wrvre—x - 4’36717 8 | 26657 =& KRTEARE — 4’37750
9 [1199|#\l8 =3k |[KmTzxs - 4’41720 10]2966|3 8 & AB—ENLZ — 4'54”59
11 ] B81|KIKX FE(E |[mimInss — 503767
— & BF 5000m _ B
EHIEME:SE 2 | FERE ¥ SCE% g f] &= K £ RE F S0 Ek
T 1 |3027| AT BES  [spers—x - 162377 2 |4237|BK J&E Fo iR - 1628721
3 [3022|HFR EM |srzrs—x - 16’3574 4 |13959|7RF Ff& WHYRE—Z — 1723732
5 |3010] K% & WHIRAE—X — 17’5979 6 [1193|=W & KRTEASE — 18'01797
7 | 30438 EFE  |spzre-x - 18’546 8 [5495)/\ AR K WAHBER - 19'55783
9 [3009|Bix =E=— |wrvzs—=x - 20'0070 102661 |Hik ME ARTEARSE — 20'15756
18674 §$ EEAE - DNS 3230|F# =4B AB—ELR — DNS |
— 1% By 3584 X 100myL- RES
E |EE A= (AL & Es A= (IEAL)
I I = I G EA - R B iK% (K £ A A B
1756 [(BH #BA KEREASE - 1 1743 [FEHF  Fits KEEEERAE - 1
1 1771 |8K B— KREEASE - 2 2 1746 |;hEH  #£4 KREREARSE - 2
1739 |¥E:T _’ﬂﬁ KEEEERAE - 3 4178 1748 [[RE &t KREREARE - 3 42.25
1761 [Ae)ll E—BF |xmEExz - 4 1740 |4 H #E AFREERAE - 4
R 5415 [&K #HR  |[z4—erx - 1 1760 (1L B AREREASE - 1
3 | 2704 [&£H $$HN ZE—ELZ = 2 4 | 1749|128 EBA KREREARSE - 2
2699 | Kt 1k} 28—l - 3 42.84 2219 |[EH B4 KEEEERAE - 3 46.44
5687 [Fy R— Z8—ELR - 4 2269 itt BA KREEAE - 4
2700 |&8)1 %EIIE 2a8—bLR - 1 2631 | L& BN E3Fi) N
5 | 2970 (&1L ZRB—ELR = 2 6 | 2630 (kKX = BEEmstR - 2
2711 |FHFT ﬁz 28—l - 3 47.48 2113 [#EwE tHE BEmst K - 3 DQ1-2
s 2066 |28 & 28—tLx — 4 2191 |FEAk Bk EmEak - 4




— 1% BF ESB _ REF
(8] JE | S K4 = S0 5% JE | S K4 & = S0 &k
1 127|188 % |[AsaExE -| [2.06 2 [1752|0# 1= xEEAE - [2.00
3 [1759|x# TEE [xmEexz -| [2.00 3 [1758|=F 1l BF  |[xmErxz -| [2.00
3 [1729]:m8E (A8 |xmEExz -| [2.00 6 |1762|Fx Bt xmEREAE - [1.95
7 [2386|#&xF 1L K#n  |xmasExz -[ [1.95 8 [3708|%H AFE  |xmEmxac —-| [1.80
9 2658 FHEH |[xmTzxz - 1.70 2936|FEH =B SEENEE — DNS
— i FF FEiEsk _ KB
B EEESS K4 e S0k & g | &= K4 A S0E% JE
1 [1733|BAX Ak |<mEERXE - 7m04 +1.6 2 [234 %O EX KRBBAE — 7m00 +1.3
3 |1265 M+ #B& |WAS - [em97 +2.8 4 (1751 |h8 K& AREREAE —|  [6m82 +2.2
5 1679 [flA BE¥E |[xmioxs - 6m74 +0.9 6 |1750 %0 EH KIREEARE — 6m72 +0.4
7 (1790 |#Jr ®AE |BEFS K [ [6m62 +3.0 8 [1764|FHE XF |xmEExz —| [6m58+01
9 12113 |#kE #hE [BHFEANK —|  [6m43 +06 10 [5465 %S Fr NOBY -] |em26 +0.7
11 |2938 |= Il ¥t |etzaims - 6m02 +1.4 1215616 |h/R & ZA—ELR — 5m97 -0.4
217 Bl EX |xm#axz - [NM 2035 [AH #t  [erz=ims - [DNS
5498 |HET K |#&5EEH | [DNS 2397 |REHF  TRth BEAKRE -| |DNS
1832 |/NEp kit |FBEgk= -  [DNS
— 1 %% faf (6.000kg) _ REs
& K £ BKE = FOEK B | &= K £ ®rE = S0 8k
1 5496 R k¥ |WHBEm - 13m17/ 2 12682 [F)Il  KEj NOBY - 12m18
3 16499 RS EX [HFAER - 11m70 4 (337 |ILHA [==E N.N.T 11m42
— 1 %% usUK > dvi _ _ _ REs
[ #H] L K% Bil=E2 B| EC#% L | &S K4 Bil=E= JIB| EC&%
1 1731 XFE KL |AmEEAE -| |50m9/ 2 (1769 |1LE & xiEExE - [50m49
3 |5497 |38 EX BARER -| |46m68 4 (1754 |fEE KHb  |xmEExz -|  |44m99
5 (1767 |E# FIZ2  |xmEmkcsz -| |44m32 6 (3752 | & MARER -| |43m32
7 1768 |ZBHEY U 2 |xmEEAE —| |38mb4 8 |5570 | K& wanamuasss —|  |38m43
9 [1763 |M\E FEAX [xmEExz -| [34mb6 1016722 |&2 A Mgt |#ooket —| 126m92
—fi% xF 100m _ .
fH | B | &S| K 4| FRE F ek | | B | BS K £ | ERE ¥ 50 8%k
1] 1 /82|EF & AREBEAE -] g 12./9 2| 1 [ J61|=VYH JFExE |XEEEXZ -|q[12.71
2 | 277|&%FH EH& |mmmEiz -[g (1293 2 |2715|%H k& Z5—tLX —| q|12.95
3 | 775|FARZC A |xmEEXE —[q[13.12 3 | 278]IE L EF mHsEAE —[q[13.13
Bl 4 | 611/NE BH)  |messxsxe -[q|13.46 Bl 4| 772 ZEW xREEAE - g [13.68
1 774|=H b3 |xmErxz -|  [DNS 06| b | 785|d%t HJH AREEAE — 13.71
m 786 |FE] EA |xmEERXE - DNS m| 6 633 | FHIE EEPELTAE — 1416
L;.
B| & | FB| K 4 A F S0 8%
1 782(B8vs = AREBEAE - 12.68
2 J61|=VH KE [XREEXZ - 12.73
3 | 2715|¥H k& ZAA—ELR - 13.00
B 4 277|%H# = REHELRS - 13.01
16| 5 TI5| AR5 RIRERE AR - 13.31
m| 6 611|/E  BH ERFELTFAY — 13.43
7 278|I& L A REBERE - 13.46
8 7720+ ZEN AREEAE - 13.68




— ZF 3000m _ _ REs
[ JE [ Z=] K % B i | B X2 K & B =5z
1 1 763| =B = AREBEAE — 11 ‘0074 2 | 780|NH A  |xmEmkx - [1114793
3 | 783|EAR AE [xmErxx -| [11'3278 4 1 790[luIB #k  [xmEERxz -] [11747700
5 778|fTEE ZE N7 | KREEASE - 12'0176 6 3046 (EBZE |[skrwzz—x - 1221798
7 | 779|1BE ¢ KREBEAE — 12’2576 3049|248  HF  lspzzrsz—x —| [DNS |
— fif ZF 3584 % 100miL- SR
& BE #-|UBfz) v E= #-|BfL)
| S v = PR A Rk B e |K 4 2L FEL-| R
I5) TRk BF  |REZ&m® - |
1 454 (IO HIER |RE&EH - 2
278 &L A RELZ&RE - 3 50.67
277 |%H =& REL&R% - 4
*R
s
—# ¥ EEBk _ _ _ REE
g | &= K4 A S08% g | &= K4 BE = 08K
1 770[iE2E mE |[xmEwxz -| [1.65 166| KH #E£ xirErERE —|  |DNS
J710=a1 Bl |xmEEk: - DNS
— ZF FEEK _ R
EANERESE K# wrE = S0E% & g | K= K4 wrE = S0Ek JE
1 TJ8T|BLE Ik | AREMEAS —| [5m33 +1.5 2 | 768|BEA #E |[xmEExz -| [5m20 +0.7
3 7731\ il |(xmEELy — 5m19 +0.0 4 965 |AREE  MEE KRERE KRS — 4m90 +1.7
5 807|EH E% (B4t A —| |4m60 +0.6
— & L F Tﬂs&& (4.000kg) ) B
g | &= £ A 0% FESE K £ B& = S0 8%
1 787 Eﬂ{i xEEEREAE - [8m22 |
— ZF PYEIT _ _ _ R
L [EBS]| K& g4 EEES LIES| K% g4 JIB| 508k
1 A52(1BE BF |[REixrxy - 40m0?2 2 788|182k FHb KIREEAZE — 38m90
3 767|1EAR TR [xmEEcz -] [32m74
HaE BF 100m REs
8 | B | &S K 2| ERE ¥ S0 8%
1 1 584[ILH EH— [&£%/57 - 11.98
2 |2700|#8)1] F1E |RrR#—EALX - 12.46
3 [3396|HFm BB WA ES - 12.60
m| 4 [b493IR #z |MFEERH - 13.25
0] 5 |6005|=1E MR=E [ KBrkEEH - 14.15
m



H4E BF 3000m

#0 Bfr] =1 K & | FRE F ECEX IBfz &= K & | PRy ¥
1] 1 |5250| K% AX |[%GEEH -| [936758 2 |3036[#A =EF] |sAwrs—x -
3 |5227|=% =t |#FHEEH -| (103074 4 |3028|F5E ST |sAwAs-X -
b | 139|Jt%¥ IFBA [ems>r—x -] |114377 6 |3014 X Ml BERAE—R —
5501 1AM H®E|#HKFHEEH —| [DNS :

I BT 100m _
8| 5 | FES| K £ | FR4A F ook |HH | B | BS K £ | FRE ¥
11 2|#AF  fmAKBEB[rkscmzE® 6] g |14.10 2| 1 8278 #Ek Hkscw®) b (g
2 8l [EiE [HxkscmrR 6| g [14.68 2 18/ 1B HKsc&=®) bl g
3 29|#/k BAER|HKkscwm bl q|14.74 3 81|1=vEB [E HKSCH® 6] q
Bl 4 26|88 & HkscEr) 5| q|15.47 ml| 4 84|/ KX HKSC(E&R) 5
of 5 15[ Z=XK |Hksc@E= 5[q[15.58 02| 5 14|/ ZEZo HKSCHE) b
m| 6 12|k B HKkscE® 5| [15.78 m| 6 37|EH b3l |HKscok®) 4
7 SlxE WK [HKkscwEm 6 16.00 7 32[=m F& HKsc@maw 4
3| 1 24| BEER B A [HkscEm) b 16.53 4] 1 3|EE  FE HKkscE®) 4
2 85| MmO AlK |[HkscEm 5 16.96 2 38|45H 1&1t HKSCER) 4
3 40|ET FEAXN |HKkscEx 4 17.40 3 8378 ki HKSC#®) b
[l 4 17|58 B4YE  |Hkscwsw b 17.51 E| 4 41\7%%FE fAXBER |HkscEm) 4
11 5 42170 B |[HksceEs) 4 18.19 09| 5 89|AR Xt HKsc(hE) 4
ml| 6 31|4EfE K= [Hkscwmm 4 18.46 m| 6 21|#H X HKSc(x®) b
7 39(F0A /F] [HKkscEm) 4 18.77 36|MHE T HKSC(d) 4
[ REE |
Bl & | S K £ A F SOk
1 2|MA M\ KEF |Hkscmzs=®) 6 1451
2 8l [EE HKSC@EER) 6 14.72
3 29(##k EAXRKBER [HKscwm®) b 14.79
E| 4 82158 F#k HKSCH®) 5 15.32
10| 5 26|48 HKSCER) 5 15.70
m| 6 81|l=wvH B HKSCHE 6 165.74
7 15|1EE =X HKSCES) b 15.82
8 18|/V)Il 12 HKSC(ER) b 15.97
NG Bf 800m .
L] B2] K2 | =RhE = | o6
1 HEY N HKsCHmE) B 23146
2 16|#AK B |Hkscoumm b 2.38.98
3 19|18JIl 3 HKkscws) 5| 25051
4 34|F Il BEAER|Hkscum 4] [2.59.88
5 86|h{E ER HKscuha) b 3.09.77
6 35| FkA  |HKksowxm 4 3.10.569

10



I\ _B¥ 4% 100myL- _ _ RES
& | &= *-|(IBAL) & | B *-| (B
Bl e | w4 K % R FEA-| ek & | B% K % R AR ek
8 WMl e HKSC-A 6 | 6 A 20 HKSC 5A B 1
1 2 WMB f@®AER HKSC-A 6 2 59.05 2 12 % & Hksc-5A b 2| 1.02.28
1 &8 i HKSC-A 6 3 26 # & HKsc-5A 5 3
5 XERE WX HKSC-A 6 4 29 FK BEXE] HKsc-5A b 4
4 HE == HKSC-B 6 1 15 FE =X HKSC-5B b 1
3 81 =vB [ HKsSCc-B 6 2| 1.02.94 4 84 INE KR Hksc-58 5 2| 1.03.01
1 3 AR E HKSC-B 6 3 19 Bl ;® Hksc-58 b 3
10 /NFE 8K HKSC-B 6 4 18 /NIl 12 HKsc-5B b 4
14 /@ BZFE HKSC-5C b 1
Wil 5 28 L HE Hksc-5¢ b 2| 1.03.66
86 Hfg B2 HKsc-5¢ b 3
82 A sk HKsc-5¢ b 4
35 EAR kA HKsc-4A 4 1 7 SH 'BE HKSC-C b 1
1 34 FHIIl BEKXEF Hksc-4a 4 2| 10483 2 86 XO E&IX HKsc-c 5 2| 1.11.51
32 =@ H& HKksc-4A 4 3 89 HE X HKsc-c 4 3
37 Eft K3 HKsc-4a 4 4 41 ZHZFM HABl  HKSc-Cc 4 4
39 FHE EF HKsc-4B 4 1 27 /NI EE HKSC-5D b 1
3 31 £ K= Hksc-48 4 2| 1.12.60 22 JKE EAN Hksc-50 b 2| DQ1-2
2 42 O B Hksc-4B 4 3 24 EHEEP BA  Hksc-5D 5 3
40 BT EX HKsc-4B 4 4 13 JIEM BN  Hksc-5D 5 4
18
I\EE B 54 X 100mYL- PN
B ‘ 4~ IRAL) s s éi;%ﬂ’-'rua T
AR JE A K A R ER - ek g e K £ R ER - Rk
8 il =R HKSC-A 6 1 6 A B0 HKSC.5A B 1
1 2 ™WMA fmAKES HKSC-AG6 2 2 | 12 Bk ¥E HKsC-5A 5 2
1 &8 hie HKSC-A 6 3 59.05 26 & & Hksc-5A 5 3| 1.02.28
5 xR X HKSC-A 6 4 29 FKk EXKER HKsc-5A b 4
o 4 HR #H= HKSC-B 6 1 15 EE =X HKSC-5B b 1
3 81 =vH & HKSC-B 6 2 4 84 I KEL HKksc-5B b 2
3 AaF E HKsc-B 6 3| 1.02.94 19 Bl &’ Hksc-58 b 3| 1.03.01
10 /A EX HKSC-B 6 4 18 /NI 2 HKksc-58 b 4
14 Ihpg &2 HKSc-5C b 1 3b 1HA kA Hksc-4A 4 1
5 28 NI HE HKsc-5¢c b 2 6 34 FH)Il EBEAXER HKksc-4A 4 2
86 Mg E& Hksc-5¢ 5 3| 1.03.66 32 =H Fx Hksc-4A 4 3| 1.04.83
i3 82 B sk HKsc-5¢ b 4 37 Bt i Hksc-4A 4 4
17 ZTH KBE HKSC-C b 1 39 FH BF Hksc-48 4 1
7 85 xXO &K HKSC-C 5 2 8 31 ki XK= HKksc-48 4 2
89 HE 3} HKsc-c 4 3| 1.11.51 42 #wO B HKksc-48 4 3| 1.12.60
41 ZFME WABE HKsSc-c 4 4 40 BT FEX HKsc-4B 4 4
N BF¥ ESB _ _ _ R
E1 K= K4 iE% “AlE| E&k L | ®E K4 g4 SE| 8k
1 IR A |rkscasn 5 [Tm10 2 28/l H=  [Hksowa) b]  [1m0b
N FF_ FEiEek . KBS
g | &S K% BZ = S0k JE B | &= K4 BZ =z SC % JEl
1 10[/hNe8 &K [HKscE® 6 3m94 2 22K:E  BEAN HK S C#i®) 5 3mb 1
3 3 AH = HKsoma® 6| 13mb 1 2| 27N B |nkscEm 5| [3m25
5 AlBE FH— |HKkscwE) 6 3m05

11



INEE ZF 100m _ _—
8 | B | &S K 4| FRE = ek | | B | BS K 4 | ERE T S0k
11 52he pm |HKSCU6]q]14.50 2 1 615k & HKsc@m 5)g[15.85
2 A8[IUE —#F [Hkscaw 6[ql14.72 2 b3[kT BFE HKsc@E®m 6]q|16.06
3 T4FEEF K |nkscemw 5[ g|14.89 3 S5718HA HgH |HKkscE®) 6 16.39
Ml 4 70|#/f £ #7F |HKscxd b g |15.35 [l 4 77K HIB HKsczEm 4 16.48
0] 5 602 8 |[nxsca® 6]|q|1b.4b 11 5 67| P8 BE |[HKsce b 16.77
m| 6 h0[#r48 = |Hkscwm 6] g [15.83 m| 6 b5(%t AR HKSCER) b 17.22
45| )1l —#E |Hkscwm 6 DNS 66|/Ngg EF HKSC(xd) 5 DNS
3| 1 O1|gaE #E88 [HksceEs) b5 [17.09 4
2 76|5H HAY |[HkscEr 4 17.15
3 80 FiHj [Hkscwo 4 17.64
m| 4 78|#1H #&F |HKscwm 4 17.97
11 b 73[lLuA FE HKSC(E®B) 5 18.03
m| © TO[#NE  FmE  [Hkscezm) 4 18.05
B | & = K £ EREF S0k
1 MIFE A HKSCUI®) 6 14.49
2 A8(IUH —3F HKSCGzt) 6 14.87
3 T4|EEE Rk HKSC@EEgL) b 15.03
m| 4 70| £ #&F HKSC(=dt) 5 15.35
031 b 60|EiE2 +tiE HKSC(E®) 6 15.55
m| 6 50148 = HKSCE®) 6 15.67
7 61|%Z & HKSCEIR) b 15.95
8 53|k:T BEFE HKSCE®) 6 16.16
INEE zZF 800m REE
W EL] B2 B Z | =h& = | ik
1 63|l B |HKscwm b 24210
2 62(ZE|l HE [HKscwm b 24249
3 h1|=# =& [HkscEs 6 24259
4 47|NE B [Hksommn 6 24545
5 50|kt 3P HKSC(xr®) B 24562
6 43|BAH EBFH |HKkscwm—-) 6 25352
/ 64|3)Il #@RE |[Hkscune 5| [2.58.05
8 92|31yt M4 |HksceEe) b 3.01.67
9 b8|#Afk #7r |Hksc&e) 6| |3.04.37
10 56 EEIEF' ELH [HkscEs) 6 3.09.85
= _&F 4X100myL- _ R
= = TR & | B5 A - (NRAT)
e | L K % A FEY-| Bk B | % K % G A ek
I7 N#E =B HKSC-A 6 1 6 Ml P= HKSC-5A 5 1
1 45 H)I| — HKSC-A 6 2 2| 61 &HB & HKSGC-5A b 2
52 AEB #HE HKSC-A 6 3 58.83 70 Lk #&&F HKsc-5A 5 3| 1.00.54
48 |UH —% HKSC-A 6 4 74 R KK HKsc-5A b 4
b0 /i MKE HKSC-B 6 1 b3 KI B#F HKSC-C 6 1
3 43 BHHE E#F HKSC-B 6 2 4| 60 EiE2 tfE HKSC-C 6 2
49 WME #&F HKsc-B 6 3| 1.0147 57 BA HEH HKsc-c 6 3| 1.02.18
46 BE FT&H HKSC-B 6 4 59 R ¥R HKSC-C 6 4
54 B ZEHE  Hksc-5B 6 1 1T A BE= HKSC-D 6 1
5 63 =L HE HKsC-5B b 2 6 | 51 F# ==& HKSC-D 6 2
67 ¥ A¥=E wHksc-s585 3| 1.05.26 56 Hf ZELHRMW  HKSc-D 6 3| 1.0553
62 = EE HKsc-58B b 4 b5 it HH HKSC-D 6 4
92 it MG HKsc-5C b 1 80 & Fii HKsc-4A 4 1
7 64 gAJIl ZHB5 HKsc-5¢ b 2 8 | 77 & B HKSGC-4A 4 2
73 WA FE Hksc-5¢ 5 3| 1.09.38 78 A #&&F Hksc-4a 4 3| DQ3-4
91 PHHEH 580 HKsc-5C b 4 /6 HEH HAY HKsc-4A 4 4

12




NE L F EER R

g | &= K4 rE = 50 5% g | &= K4 rE = S0k
1 AG|HEE FF [HkscE®) 6|GR 1.35 TS Hkscad) b NM

N L7 FEER _ R
g | &S K4 A S0E% & B | &= K4 e S0E% JE
1 149 WME #&F |ixsceEm® 6 3m87 2 144 BEAR BEE HKSCHE) 6 3mb8
3 |64 B RFE [HKso=s) 6 3m03

B
N

BF 100m

H g e K Z | TR = Sl [ Z | Zre = =5k
f_1 1 |1/20|2H 2% |™® & 3]q]il./b 2 T 301|52H FUA MA= 3lqli2.1]
2 | 3063 Ak mE=_ 2| [12.20 7 [2205]78 — & FEAME 2| [12.30
3 |1361[(EH ®=H |%FEEE 1| [13.78 3 |[1145|2X& nx maE 1| |1265
Bl 4 [1212|X{E —& |WZEm 3] [1394 ‘[ 4 | 2749 #X ®FE= 2] [13.18
115 [2209|M#& #F¥  |[=&xme 1| [14.31 1215 [1424|5cE B 2 2] 11348
m| 6 | 633|FE = [#® K 1| [15.83 m| 6 | 430[hJI[ &5 MEM 2| |[1459
AES = M 3] |DNS 7 | 634| AT IhEe ®_FH 1| 1464
1223 XA [#%&FH— 1] [DNS 8 1304 BEA =4 BAERE 1] [16.36
[ 1 | 202[%E =i [%FHZ= 3lqlllb/ 4 1 [1210|Ea& Afm FiEps 3| g [12.17
2 |1926|B8 % i = = 2|qli219 2 | 503|&HHE _Ebs = W 3| [12.27
3 [ 24/l ix [ H 2] [13.25 3 | 233[FK K& #®AE— 1] [13.26
Bl 4 [1347|=H FE |[%REEE 1] (1362 Bl 4 1423”80 BE 2 21 [13.39
11 5 737|5H EBA b= 1 13.97 14 5 | 426[8xF BX wAEM 2 14.96
m| 6 | 120[£E &E [#&F— 1] [13.98 m[ 6 [2208|8JI A— =EAME 1] [156.00
7 _|1815|" A fﬁﬁ 1 [14.23 7 [2103[F# E Bt f)%ﬁ 1 [15.05
311 E % 5= 1] |DNS 8 | 618|FA £ & 1 [15.49
5[ 1 | 515 %EH 1’%% = W 2| [12.50 6] 1 | 632 HA %E E3 % 3] |12.65
2 |2150[Afx E&%E |EEFA 3| [12.55 7 [2206|5 3 AR #EAME 2| [13.10
3 | 925[BAM X& | E 2| [13.96 3 | 730[3E K4t F = 1] [13.30
B[ 4 [1348[#E B [%FEE 1| (1442 B 418713k B & # p 1| [13.45
106 [1765/Ndg J¥A & B 1] [14.65 1[5 [ 302][FmH & wHE=_ 2] (1347
m| 6 |[1437|BH =& [ 1] [14.84 m|[ 6 [1337];T X &= BEER 1| [14.40
310(3776 &KX |[%F= 1| [DNS 17| &E M ®FE— 1| |DNS
130[fF L % 55— 2| |DNS
7l 1 [2115]= Rz REp 1] 1263 8 1 | G04|4H =18 ZF B 3[q11.99
2 |1433[FHhRE X& |# 1 [13.33 2 | 308/NR E®R ®FE= 2| [1393
3 | B38[HEAR S Z W 1 13.46 3 [1770[lLF K& MR 14.06
|l 4 [ 316[m B&  [#%AH= 1] [1358 B[4 73500 B% d = 1 [1411
2 5 | 24788 &8 [#%hH— 2| |13.96 1[5 [2210[E &t BEAME 1| [14.05
m[ 6 | 617|@A 1&% ¥ F 1| |16.68 m| 6 |1342[3F KA BEER 1| [16.79
114038 ¥ m=&E 1| |DNS 125[3RA AR #®FE— 1| |DNS
Ol 1 [2203[)IIH —# |smAmE 2| [12.2] T0[ 1 [2181&2H = Elep  2|g]11.88
2 | 71|y X | = 2 12.84 2 [1413|Hx = # 3[a|11.98
3 [1343|kH Bh |[MAERE 1 13.21 3| 211[Bx &Z wE=Z 2 12.86
Bl 4 | 446|F mal ®AEm 1] [13.60 B[ 4] 5360 B S B 1| [13.22
1[5 | 235[ER #ABB [%F— 1| |[1456 11156 [1122[FA &N =EE 2| [1350
m{ 6 | b42|ZJI] Kz2 [ W 1] [15.38 m|[ 6 | 734[®h & %K d = 1] [14.72
7 | 615[FkR B % F 1| [15.45 7 | 312[KE 3RE MAE= 1| [15.04
[ REE ] _
A & e | K % ZRG = 5%
T | 200 [BE =tk ®A— 3] 1153
2 (2181 [&@ = EEP 2| 1183
3 [ 1413 [Hx #= 2 3] 11.89
B[ 4 [ 504 [/AA & Z | 3] 11.98
16 5 [1926 B & = 7 2] 1212
m| 6 | 301 |&2E WA %wHE= 3] 1213
7 1215 |[Em XA fEm 3| 1242
1720 |&H E% ¥ B 3] DNS

13



paa
L

B2f

200m

B CEEI=E Z | oA = = 15 = s E__Z | ZREZ = =E
/= =i
i 1909*%‘25 A 1= 7= 210124.03 21 1 | O0b|ZS T & % 3[q122.87
2 | 2144\ Z:AB |EEm __ 3|q24.42 2 | 630[Lf H/r % #_ 2|ql24.15
3 | o46|mHE BT [& 5 3| [24.92 3 [1108[@1H aE =EHE  3|q|24.69
B[4 [T341[HE BA |[WAERE 1| [25.83 B4 (1131 &% EEE 1| [26.64
2| 5 [1102[FE kB [=&8 3] [26.19 235 [1905kE H® = £ 1] [25.77
m[ 6 | 2256 &mm& %A — 1| [28.11 m[ 6 |1440|5x & ¥ 1 126.70
7 | 635[%R ThiE % & 1| [31.25 7 | 441 maa B % HPr 1] [27.00
31 1 12171k % Eips 3|q 2445 [ 1 | 933 1= = B & 2|q(24.30
2 | A48[EW B #%HEm 1] [25.33 2 [2190[=F #B ERf 2|q24.88
3 [T111[EY & =&E )| (2564 3 | 246 /\B X mE— 2| [25.73
B[4 [ 601[BA B— % 5 2] [26.75 B4 [T133[=x 3t mEE 1| (2577
1[5 1911k e |= £ 1| _[27.13 255 [ 13|l = w5 1| (2748
ml 6 [1701 & & . i 2] [28.39 m 1349[1BH Bx S FEE 1] [DNS
2128 —& [%A— 2| [DNS
& & [EE | K ERE = i
1 905 [#£E ZEI SES 3 23.11
2 | 630 [l B4 % £ 2| 2404
3 933 |5 B IEEES 2 24.36
&4 [1909 [Fs B X 72 0| 0440
0.1 5 1217 |3k ¥EN I EE 3 2454
m 6 |2144[)\2 ZXBR |EEA 3 24.55
7 1108 |[f1H ®E E] 3 25.09
8 | 2100 =T fnte__ |EEp 2| 2617
?f% %E Z 4+9¢Ozm+ﬁ B EE Z | SRhE =
% = ES A2 = % Z R 5 ZRZ = =E
T T o0 EE B K 53[50 s0 21 1 | 1601 KA BE *&ﬁmaa 11q(58.32
2 | 1630[AA 4 [ ALLHE 3] g [56.61 2 [1934[EA& A%t £ 7] [58.84
3 [1902| TR B = £ 3]ql56.79 3 (1132|752 ié% 11 [59.88
4 [2201|dkFF E%  |=mAmE 3|qlbl./7 4 [2109[ME =& EF 1]_[1.03.43
5 | 215|AHE e %A= 2| [59.8] b | 736(= )1 9B h = 1| [1.0551
6 | 1115 &=x ®E— 2| [1.0047 6 | 244[EK _HPE $5175_ 11 [1.06.19
3] 1 | 622| LH B & 5 3195642 7
2 | 213|53F _=iv %A — _ 2[q|5/.05
3 | 712|BBA& &= |+ =  2|q]5/.30
4 [1605[#H B %A WE 1] [59.00
5 [1908|@# =& |= 7= 2| |1.04.76
6 |2106|E)Il =& |&=@m 1| [1.09.09
[ RE |
= B2 | K% S A LS
T [ 1630 [ AN £ KA WLE 3] 51.64
2 610 |BFR A A 3 53.19
3 1902 [z R = = 3 56.74
4 622 | FH #HE A 3 56.82
5 213 [&H#H =N wEZ 2 57.40
6 [2201[dtk ExE EHBEAME 3 58.50
7 11601 [AR&f ER wAEILE 1 59.88
712 B84 gl [ = 2] DNS

14




i BF 800m _ .
8 | B |- K % | ERE F SCEK B EE K RS SC ok
T|_ 1 | 433[FA Btoal [ m 2] [2.12.24 2 | 231|mJIl BE mE— 1] [2.16.21
3 [2189|FE& K |EERsm 2| |2.2338 4| 522[=% Ea = @ 2| [22498
5 |1326|/& FEK |MAERE 2| [2.26.45 6 | 118|f@k EH1ib BME— 1 29840
7 | 707|=@ = = 2| [2.3168 8 | 620[fR1L =& % B 1] [2.39.51
9 [1303][Fm B [KMAEER 1| |2.45.8] 10| 226|FE EF wE= 1] [2.47.13
Pefibim T 1913[ILA B = £ 2| |DNS
34X K #%F= 1] |DNS
21 1 | 201120 ¥ |®E— 3| |2.1202 2 1634 5R =5 WAILE 2| [2.13.71
3 [ 631[#HE ®kF [ F 2| [2.19.94 4 110[6E Be ®E— 2| [2.2065
b | 309|FMH X (A= 2| [2.20.95 6 | 930[ KA BEtH  E 2] [2.23.80
7 [17b4[=ms RE (B & 1] [2.0754 8 | 230 B WwE— 1] [2.27.89
9 | 428|RA = %A/ 2| [2.08.30 10| 535|ERE Xxi= = | 1| [2.31.79
11 [1812[3k % & % 7/ 1| [2.31.86 1247[%EF = faEpm 1| |DNS
1302|&% F @Ml [%FE5ERE 1| |DNS
3 1 | 9260 AZ [/ = 2| [2.13.11 2 |1919| RN =p = = 3] [2.1627
3 [1804|A= B\B%or £ & 2| [2.18.80 4| 526|AF BE = @ 2| (20400
5 | 216[/NE = wAE= 2| (22947 6 [1339[/NE& Zin BMEEE | 2.31.65
7 | 632]#Al BA % & 1] [2.31.74 8 | 501|#% iz 2 M 3] |234.38
9 228| KF EAXB (A= 1 2.35.18 10 [ 217982 FRED REA 2| 23533
11 [ 313[luO &&E  [#%AH=_ 1| [2.42.10 12 [1242|/@ B faEm 2| [2.50.31
13 [1308[ER X |[KAEEE 1| [257.93
41 | 643[BF =X % 5 3| |2.11.34 2 |1/7031)Iam | & 2| [2.1494
3 | 101[=H# BN [#%F— 3| [2.1743 4| 2290 & %wAE= 1] [2.19.80
b | 307[BF k& [%F= 2| [2.27.20 6 | 13018 & wEER 1] [2.30.19
7 |1305[%% k.  |[#%AER 1| |[2.30.86 8 | 512|Em *XE 2 @ 2| (23157
o0 | 315|kE =& [|#KAH= 1| [2.33.89 10 614[% B ® & 1] [2.39.16
11 [1972[@FA& T ABF [ ~ 1] [2.39.79 12| 124[3k#E FREB wE— 1] [2.40.31
245|310 =/ (A 1 DNS
5] 1 |1918|% 9= = £ 3] 21620 7 12182 % B ERm 2| [2.23.99
3 | 533|@E&m ar = M 3| |2.28.89 4 [1607|EE &£k %A@ 1] [2.31.11
5 | 227 2@ A B = 1| [2.3479 6 | 304|]ZM H@A wE= 2| [2.34.92
7 [ 7311 E&¥ | = 1] [2.38.87 8 | 523:ZH e 2 @M 2| [2.39.79
9 [1333[kMH X |KWEEE 2| 24712 10[1137|HE 2% =EE 1| [25353
11 [1248]8)1l #5A  |#Ze 1| |3.20.31 236| K7 e %A= 1] |DNS
1814|B8A& s A & 7 1| |DNS
E B2 | K& PR = B
1 | 201 2@ ¥  |%H—  3]CR 1.69.32
2 | 643 |83 xR |k 5 3| 20843
3 |[1634|8E 2K  |[®KAWHE 2| 209.79
4 926 [Wio A2 | & 2| 21041
5 | 433 |@A BW %AW 2|  2.11.07
6 1703 JIEM 3 | B 2| 21241
7 | 231 [l % %A 1| 2.14.78
8 1918 |#% OB X 77 3] 021874

15




16

rhs BF 3000m ) 3R .
f8 | & [FEE i £ | FR4E & ik | [ B’ [ K 2 | g = =0 6%
1 1 11278 KE EEEIHE 9’45736 2 |1404[FmE5 B2 BN |# 3 9’46753
3 22071 & HEAME |1 101370 4 [1113[5&L1 E& HER |3 1017767
5 12618JIl BX WH— 1 101977 6 | 1422|F4F BB * 2 10'29732
7 12202 EE K HBEAMEZ |3 103077 8 521[3g7/k ¥R 2 H 3 1035717
9 921|#E K— W 2 103975 1011904557k ER S = 3 1042775
11 1104|504 BRE HEEER (2 104674 12| 305|7R¥E K& wE= |2 1047714
13 11924 |®L XA [& 1 104775 14 |1120|&E1E EAX BEERE |2 10'67712
15 | 602|1FiE 1T A ® A 2 111273 16| 612|(hiE Eib ®_ A 3 1119759
17 | 434|13R% #nBH Al 2 112674 1811138|HO F— RER 1 1128751
19 | 932|KJII O 2 11’2971 20 1436|%5 =R 2 1 11'52745
21 [1434];%]" hK 4 1 12'0470 22 11916|1kO & = = 3 12'06705
23 |1926|&H BE = = 2 12’3778 1931 3ZK #{ = = 1 DNS
2184\ £ FHZ REEA (2 DNS 1320|F f&3 WMAERE]3 DNS
2] 1 923[fA —*E wOE 2 948765 2 [ 1139]/M1] “‘EZf\ EEE L 9’52708
3 [1409|3H —1b 4 3 9’55756 4 11121k EE BEERE |2 10°00749
5 |1110|JE:2 RIS HEERE (3 10207 3{ 6 | 645|188 EX ® A 3 1031798
7 |2106|2)Il 4% EERA 1 10'3976( 8 4277 E BIK Al 2 1044725
9 [1936|FH BX = = 1 104971 10 [ 1435| Rl = 4 1 1052768
11 [1438| A EEN [ 1 10’6779 1211321 )l Imts MAERE|3 11'02726
13 | 543|1LE #H%H 2 H 1 110372 14 [1917|H% X = = 3 11'22792
15 123|F:t BX whE— 1 112670 16 [ 11231 85 |[HEE |2 11'38759
17 [1915]|g1H & = = 3 11’3877 18] 927|RE FER S 2 1146761
19 | 1134|E3 =P8R BHER 1 11’6070 20| 435|%H KE ¥ 5 2 11'59747
211 938[/\#f HE [ = 1 12’3573 22 | 1439|=H BEH &2 1 12'49729
1323| L% #HH} BARE|2 DNS 1914 |Him A = = 2 DNS
1907 [fx J&%E = 7= [1] [DNS 036|FEt B g %= |1 |DNS
[ 4 LREBOFRER |
(& B: | E % E A
1 1127 | Bk K& BEE 3 9’45736
2 | 1404 [fRes 2B & 3 946753
3 923 |MA —H& S 2 9'48765
4 [ 1139/l EEZN [HEER 952708
5 | 1409 M —tb * 3 9’55756
6 | 1121 |k EE HER 2 1000749
7 2207 |IE@H [EfE BEHERME 1 10'13704
8 [ 1113 [zl Ei HER 3 1017767



g B ¥ 100mH ) _
1 | B |E’E KE % | ZRE =¥ ek |8 | F[EE K R G =0 6%
1] 1 [1906|KF B [& £  2[ql14.67 2] 1 [1639] LN &F #MAILA 2] q|14.56
2 1210|157 #BE |[#zEM 3| q[14.86 2 | 636|FEM MA ¥/  1]qgl15.53
3 |1638|Tpk & [#HAILA 2[g[15.63 3121458 B wmEm 3] [15.72
B 4 |2180{xT XE |EEAE 2| [15.74 Bl 4 [1241|HE Bt wmEm 2| [16.17
Ol b | 644[hie #F8k  |[%& H 3] [15.78 16] 5| 623|H® HI- ¥ /5 3] [16.24
m| 6 [1411]E &E ¥ 3] 116.27 m| 6 | 721|EE F = 2| [17.10
7 | 13162 F{#H WAHEERE 3 16.66 7 12112|% £ i EEMA 1 18.07
8 [1119[BsA ksl |sHFEE 2] 11910
3|1 6198 il Magl14.11 4
2 116334 Lt [#FWA 2| q[14.45
3 | 1313|1lu# #08r | HMARE 3[q|15.46
B 4 [1901[hx % = £ 3] [1569
2 5 [2204|=]7 %&F |=mxme 2| [18.66
m{ 6 [ 508| 1y MEABA B B 2| [19.14
7 | 1244115k BITE  |fEmR 1 19.43
m| & |FS | K % FRG F S8k
1 ] 619 [E &N w5 1 14.06
2 [1639[ILn EF HKAWLEBE 2| 1437
3 1906 |[ATF Bt = f2 2| 1459
B 4 [1633|FH =+ BALEB 2| 1462
05| 5 [1210|Fm BE R 3] 14.91
m| 6 |1638|Tik =& #AWLEBE 2| 1504
7 | 1313l #nak ®AEERE 3| 1505
8 | 636 [Em ®mA ® 5 11 1612
ths e 3584 x 100miL-
B | &5 +-(IEfz) & | &8 - (%L
#l B | K& K % 2Rg ¥4 2% g | #4 K % 2R 2y 25
T90T1 LA B = 3 1 1636 |th e [EXN BALE 2 1
1 | 1909|A=E WX = 2 2 46.27 2 | 1639(lLK =H HMAWLE 2 2 46.47
1926|658 5% f# = £ 2 3 1632|&% T R HAWLE 3 3
1906|AF B2 = £ 2 4 1630[AK *th HMAWLE 3 4
A CIIEESS BE= 2 1 601|=4A B— ® B 2
3 | 212l —= mAE= 2 2 50.05 4 | 623|mF B4 ® A 32 51.23
1 246|/\FR MK mAE= 23 636|FEMm BA ® A 13
211|Bx &% ME=Z 2 4 621|585 % ®_ A 3 4
537|FT &5 Z | T 1 TT19[BEA Bar BEE 2 |
#ll 5 | 5360 2N = H 12 53.52 6 | 1122[A &N HEER 2 2 54.84
539|MALL B = H 13 1124\ \UE 4% HEE 2 3
538|3tA B 2 H 1 4 1135[#% gz HEERE 1 4
337X %= BRAERE 1 | 620 (8R4 2B ® B T 1
7 | 1347|=m =B MEEE 1 2 55.03 8 | 602|HE TA ® A 2 2 55.79
1351)BA =" MAEEE 1 3 634| AT HrEE ® A 13
1336|/\id ¥R WMAEE 1 4 612|515 Btb W A 3 4
D32[FFA L = M 3 1 T213|AIH =re Taizpm 3 1
1 503|3H BB = M 3 2 46.89 2 | 1215|BRE Ak WEl 3 2 47.26
502|Zxik A = M 3 3 1210|Fm Ba EE 3 3
504| B EHib # | 3 4 12173k N MERE 3 4
2150|FAfR BB ERE/l 3 1 644 BIB {Ek ® A 3]
3 | 2144|)\& =kEd |ERAE 3 2 4817 4 | 643|EH =K el 3 2 48.42
2 2190|% T~ Ftb ERBAm 2 3 622| FH #HE ® A 3 3
2181:Z@ & EERm 2 4 625|# —iF ® A 3 4
T929[1I0K KW = B 2 1 T3[R —& BEERE 1 1
#l 5 | 1934|=A Kk = 2 2 50.18 6 | 1349|is@ BEHF MEEE 1 2 50.46
1933|%= B% = 3 3 1343|k+ &b MEEE 1 3
1902|+2 B = 3 4 1341|@E B MEEE 1 4
231[mJIT /E Bh— T 1 73T BT F = 1
7 | 234|dhi@ BEeR MAEZ 12 51.45 7331 E 1B hoE 1 DNS
225|48:T EAR MAE=Z 13 734\t 3K h = 1
233iEk K= mAE=Z 1 4 735\ O pEEs B 1

17




A1 oL w5 3 ] ™ B T = 71
Wi Fn M A 2 2 46.67 éﬁrs P fg 3 2 4760
B &N w A 13 Faﬁ M OIE 2 3
BRE EA A 3 4 Hx—;ﬁ wE 2 4
7 —= ; 2 1 a2 BEE ] ]
B —#% 2 2 48.79 Sk R HEE 12 4901
It B 33 =K BhE HEE 13
SH BX 2 4 Mg R HER 1 4
TE m 2 ] H EE ®AEWLE 1 1
Eo 12 51.83 AFt ER BAILE 1 2 52.04
RR K& 13 Ll E MAELEH 1 3
A BE 2 4 mR B MALE 1 4
MNEGEP N 2 ] L AlIE SRR
XE #HE 2 2 53.65 i) rEERE 1 DNS
TR mR 2 3 2l &3 EIET 1
it BEARD 2 4 B EX FEEFE 1
S st 7 ] =H B2 = 2 3 1
HWE mih 3 2 46.64 Bt B = 32 48.34
RS A 33 A 8E x 3 3
ZEH 3T 3 4 HE & = B 3 4
BH ##HE 2 1 WA FFR MAEEE 3 1
NI BEE 2 2 50.97 wE BX WAEERE 3 2 51.40
it B 2 3 R = WHEEER 3 3
EES A 2 4 Bk FlfH wAERE 3 4
BHE 5 3 1 7 = ¥ A T 1
fFE Bt 2 2 52.02 B8 X WA 32 52.84
KE — 33 NHE It ® A 2 3
ER A 1 4 F+ B WA 2 4
IO % T 1 Ak 2 B E 2
ELRLS 12 54.36 NRE $3 MR 2 DNS
FE KN 13 =g EE MR 1
=H BA 1 4 =H EBX M R 3
S 3 ] FH ZE1D WA= 2 1
T thi 3 2 4851 i)?u J*ﬁ WA= 2 2 49.03
SH BE 33 H @A |%AF= 2 3
HWEh EZ B 3 4 =M A WAE= 3 4
FE KB FEH 3 ] =H = f = 2 1
By 1B F8B 22 49.23 B X o 2 2 50.97
EE A N: F8B 13 I EN o 2 3
H EE BEBR 3 4 BAR BERE il 2 4
A 7522 T 1 HE &A = £ T 1
b= e 12 51.04 KFF HE = 12 51.13
WNE BE 13 KIL s = 13
Bl A 1 4 KR BEKEB = 1 4
BT 31 B EN BRERE 1 1
BH HE 2 2 52.57 F - EHH BMEERR 1 2 DNS
=x E& 2 3 NI IN MAEERE 1 3
M OEE 3 4 BA B4 WAEEE 1 4
Eg= FRiE ELL) Eg= B RN OERL)
B KE__ £ -5 SRER K & |=RE  F-8 8k
ZF = 7] ESRES = = 3 1
1 WE Wik 3 2 E 8K = £ 22
RE A 3 3 45.80 BE = £ 23 46.29
EH 3T 3 4 NI E = £ 24
aA Bt 3 1 HE BEA MELHE 2 1
Wi F0n 2 2 WA B MAILE 2 2
B BN 13 46.48 aF ®E ®MAILE 3 3 4655
EE BA 3 4 ¥t EtE MAILE 3 4
H R=E 3 FAR XF = H 3 1
BB A 3 2 wH 2B = H 32
#ﬁ BE 3 3 47.04 ES R = B 33 4711
R JEN 3 4 a4 g = | 3 4
’r’rrz N 2 1 T B B E 21
EAH OE 2 2 éﬁrs = M E 32
N 1 o) 2 3 47.26 B M ME 23 4783
J\ JEIKER 3 4 H$ —¥ ME D4




e 2F FEEBK _ REF
g | &= K% rE = o8k B | &= K4 & = ECE% |
1 11310|3kF =0 BAER 3 Tm7/9 2 [1923|8H FH = = 3 Tm/0 |
3 217K &N WA= 2 1m65 4 11921|,2H %? = = 3 1m65
5 |1928|/7RH 15EB = = 3 1m60 6 | 62b5|# — ® A 3 1m60
7 [1929]IuAK XFH = = 2 1mb0 8 [ 1406|553 %ﬂi % 3 1m45b
9 |2104|MA #HZ EEMm 1 1m45 10[2176|F%L E2n |[REA 2 1m40
11 [2110|F R &KX EEA 1 1m40 1211421 £ &% Z 2 1m35
13 | 2114]87)1l BBX EEMm 1 1m30 13| 1246|Rfv EX *ﬁ&?%ﬁ 1 1m30
15 12101 (& B& EEM 1 1m25 16 [1910[mH & s = 1 1m25

T124[IUE gE  |[E&2 2] |NM 603[XH %&B %K £ 2| |NM

i =7 EiEH _ RE
g | &= K4 B4z ek JE FESE K4 wE x| FE A
1T [1213[#0H %#E  |#EEs  3[NR 7m40 -13 2 [1920[lx HE S £ 3] emi7-11
3 [1632|&%T ®E |H5IUHE 3|  6mo3 -0.1 4 [1319|# BA WHER 3| 5m93+05
5 203|RE BER wmAE=Z 3 5m77 -0.1 6 |1922|HEF 1B s = 3 5m66 -0.2
7 |1930[#JE BARER | = 1 5m43 +0.1 8 |1805(w)ll s 2 P 2| 5m28-0.1
9 234 |5 {H IEER wmE=Z 1 5m26 +0.2 10 | 2187;H &1l REM 2 4m83 +0.6
11| 679\ FE W A 2] 4ms81+02 121402k B % 3] 4m79 +08
13 11635|78)Il B ®AEILE 2 4m78 +0.8 14 [1135(# BEZ HEE 1 4m72 -1.2
15 [1136|hi FAE [EEFEE 1 4m71 +05 16 | 1245|FF X WER 1 4m67 -0.8
17 |1344|5ER —8& *5(77‘&}.'% 1 4m67 -0.8 18 [1602{1LtH Etb MAILE 1 4m53 -0.4
19 | 706[FJI EZN [ = 2| 4ms51+03 20| 540[#K &5 2 [l 1| 4m39-17
21 12108k BHE EEA 1 4m25 +0.8 22 |12113|HE &KX EEMA 1 4m20 -0.1
23 |1603|k/R £ H ¥o5ILE 1 4m02 +1.4 24 | 16042 =& HA WA 1 4m00 -1.1
25 11336/ #HiME (A RE 1] 3m99 +18 26| 733|185 fkBh h = 1] 3m94 -09
27 12102|F% BN |EEFE 1 3m85 +0.1 28 | 1811 |7 X & P 1 3m78 +0.0
29 | 224|:FKk HE |HEF= 1| 3m60-04 29| 1130|fc+ /8 ThHf |HEE 1 3m60 —1.1
31 12107|/NE BAYE EEM/ 1 3m15 +0.1 32| 621|158 %= vl 3 3m02 +0.1

1937(HE &K A S = 1 NM 2111 DI M EEMA 1 NM
2186|1178 & REA 2 DNS 12432 H #53l HBWER DNS
ke 2F A (5.000kg) ) SR
EHES= K £ B‘«% = S0 ik g [ #F=] K £ wrE = 50 8%
1 (920 | P B S 2 13m0b 2 |1216|[5AH EL EMm 3 11m19
3 [102 |#51L %5BR wAE— 3 9m91 4 11636 |tH5 B*)\ MALLE 2 9mb4
5 1924 AU A I 2 Im11 6 |1932 | B= = = 3 9m06
7 (929 [B% %KEB W OE 2 8m99 8 |1105 % H K53 BEEE 3 8m76
9 11933 |Z&= EX = = 3 7m97 10 [1606 [T B4E MAILEA 1 7m66
11 (119 |KH BE WA — 1 b6m43 12 (1637 [ R KRFEB  [#&5 LA 2 6m?2 1
13 1350 |HEK EAN WMEEE 1 6m16 14 (2211 [FEH HRIE FBEKMNE 1 5m32
15 (1935 |88 K R4 = = 1 5m31 121 _/ME A wmAE— 1 DNS

19




T F 100m

E B E &2 FRE = ek | | B [EE K £ | R =
1 |1220[3F.L B F |#mips 3] [14.18 21 1 [1142|AK R ECE
2 [1958[ iR &% & = 1| [14.22 2 | 24088 £& BE= 1
3 |1445[%@ Ys | 1 [14.36 3 | 1369 =¥  |[KAER |
4 | 520(7mM B [ W 3| [15.21 B[4 501k H8E [ W 3
5 | 1290aF% =2  |%H5— 1] (1572 | 03[ 5 | 718[BH = b E 2
6 [2218|mA ¥ |&sxmeE 1| 1581 m|[ 6 [17583k1E &2 B E 1
741[/#k _Fi®_ | = 1| |DNS 7 | 164425 m= WALE 2
340|=F HEE (%A= 2| |DNS 2175| =8 &7 EEF 2
3] 1 |1449|LA =fF & 1q114.09 A 1 | 508|MA By Z @3
2 _[1968|Fm A¥ | = 2| [14.27 2 |1356|2 @ WE  |KAER |
3 | 436|FA =17 (%A 2| |14.43 3| 736|=J1] L A—X|db & 1
B 4 | 503K F1 F M 2] [14.86 8 1771k B [ B 1
1 5 | 128|@#0 &8 |[%&HF— 1| [15605 | 09 342|FEH #0Y _|BAH= 2
m| 6 | 934|EA & W & 1| [15.10 m 2014[BEA LZE  |8BANE 2
7 | 739 1A @& | = 1| |1658 AT
| 1227 |F0)I =% |4=g 3| |DNS _
5[ 1 | 45/RkA W2 [%&hm 1] [14.23 6| 1 |1940|% 5 & = 27 3lq
2 [1261]=& #Jv  |WmEm 1| [14.79 2 |[T429|B F A A K 2[q
3 | 642| =R % B 1| |14.82 3| 1165[lish BE  [%F—  2|q
B[ 4 | 543[@0 ®mA |2 B 1| |15.03 Bl 4 | 544|E5R #u—TRE|Z B 1
1] 5 [1642[## HFE  [%F LA 2| [15.07 115 [11443RT &HE HEE
m| 6 | 733|@%E ®5 [f = 1] [16.20 m| 6 | 348[fAF Fit A= 1
2078k #&E [#%F= 3| [DNS 7 | 732|%M@ #m B E 1
7] 1 _[1/68|=M0 Bx | & 1] |14.2] 8] 1 [1983|E)I] 2.2 = £ 1
2 [1252|&EF% BIE  |WmEm 1| |14.26 2 | 223|BR ®1 BE—= 0
3 [1181[EW ki |ma® 2| [14.35 3 | 456(p@ =8 ®HEmM
B[ 4 (221630 I [mBmAME 2| |15.68 Bl 4 [1446|mE =% 2 1
1| 6 | 5423 Am | W 1| [15.66 12] 5 [1254|/% =& |taZ=p 1
m 1363[lUA %% |®KA&RE 3] |DNS m 723|218 BHEE | &' 2
3335kAH H$E [%H=_ 2| [DNS 539[iFR &E [ A |
9| 1 | 53/ |E.F = 2 MW 3|q]14.15 T0[ 1 | 438[IEN %k AW 2|9
2 [1724[35)1] BBEE (B & 3| [14.24 2 | 243N &k ®%E= 1lq
3 | 347[ LA 4 %E= 1] |14.89 3 [2192|31H &%  |EERE®m 2|9
B4 [2219[0tK BE  [smAmE 1| [15.35 a4 [1808[@ll = E A2
115 [ 720[m & h = 2| |1590 | 095 |1957|"&A ¥ = £
m 1143[FE F0h [=EE 1] [DNS m[ 6 | 540[Fl ZFa [ m |
1360[/NE_iB31 | AERE 2| |DNS 1367|FE *kE |KAER 3
®] & |[Be | K& e A Sk
1 | 438/dtH %R |RAm 2 13.11
2 1940|£F & = 2 3 13.20
3 243 /NI RS wAZ 1 13.26
Bl 4 2192|g1H &% EEF 2 13.46
16| b 14295 mhA | 2 13.60
6 1449 1A ZER ¥ 1 13.97
7 15|l B WhE— 2 14.02
8 5372t = ¥ W 3 14.09

20




i T 200m _ .
f [ B [Be S R 5 e = e B R = =k
T 1 | 43/ 3% &= 5 28.55 2| 1 | 509LA& Exm |= B 2[q]|28.24
2 1174|578 HaE 28.65 2 | 654|kE ¥k ® B 1]q[2891
3 | 241[%E . 29.06 3 [1178|FA = EEE )| (2944
B[ 4 [1646| B 5 1L H 30.34 Bl 4 [ 611[EE & ® B 2] [30.29
5[ 5 | 639[XE& £ | 5 32.93 35 [1961[54 BT = £ 2| [31.46
m|[ 6 [1966A4 %Z= |& £ 34.70 m AR EDE =5AME 2| |DNS
7 |1956|ikA HE |= £ 3531
3] 1 19821 = 7 ql127.14 411 [11/0|Re Ex maE )| (2897
2 | 650[E&EA ® H q 12765 2 | /35|HRE BE b & 1] |3068
3 [2148[FE EEA q 12771 3 [1647|EE &H& AL@E 2] [30.76
B[4 [1987[%H = £ q 2843 B[ 4| 513[EFE 55 [ B 3| [31.50
2175 [2212[575%= EHAE 29000 205 [1985[MI &5 = £ 1| [32.10
m| 6 | 740[EM@ =& |+P = 33.35 m| 6 | 640[@E+\ FHEF [% 5 1| [3255
| & Be | K A B
1 1982 |#b1L B 3 27.20
2 650|FA il 3 27.79
3 2148 #AR] REFA 3 28.01
B 4 50958 & E MW 2 28.50
071 b 1987 E# B 3 28.87
m 6 654 |t H w A 1 29.02
7 1174 13&'3% BREE 2 29.16
8 437 ;%Hi% gL 2 29.42
Gk ZT 800m _ .
FEREEEE [ 2R = =5k E e 3 TR =%
T 1 [19/0[#H 2= |& ~ 23275 2 113303k mk BEEER 2] [2.35.39 |
3 [2178|BE EREA 2.36.34 4 [1999|&F K mHAZE [& 77 3] [2.38.32
5 | 626|KE B 5 24062 6 |[1173[BA vV |[EaeE 2| [244.25
7 [2118[IUF EREA 24507 8 | 1258k Bt faEm 1| [2.45.40
9 [1767|&%K ¢ ¥ R 24630 10 [1431]78)Il_ &3 2 2 (25287
11 | 516|54 = 25995 1260|AJ1l @i ¥aEpm 1] |DNS
439|EMH 3! HEm DNS
21 1 [1979| & = 7 270646 2 11951 7k % = £ 2| |23378
3 |1496|%M ¥ 23958 4 [1945[k0 1B = £ 1| (24014
5 [1353[ILF BREER 24193 6 | 1141[/\pq £ EaE 1| [24271
7 [1261| %% B 24272 8 [1368|x# BF WEER 3| [243.34
9 [2177]&F EEA 24621 10 627 F#f £% %w B 2| (25237
11 (1444 % 3.05.60 507 I % 2 B 3] [DNS
345U == 1‘51755 DNS
3] 1 | 1331|418 BhERE 2.09.13 2 | 440|FE Bk ®AP 2| [2.30.38
3 [1952 ik = £ 23355 4| 738[Am3FE BT b = 1] [2.33.69
5 [1418[3& 5 2 23447 6 | 1427k B= ¥ 2 12.36.73
7 [1955|FAK = 7 23771 8 [1224|mMA %  |#=m 3| [2.39.35
9 [1946[10& = 7 239.76 10 [ 1175|588 ®A =EE )| (24001
11 | 541k F 0 24037 106[/NE B ®F— 3| |DNS




A1 1 [T/ e =3k |[ma®E 3] [2.3042 2 [1332]a1H &= KA EER 2] [2.31.63
3 | 647|m+ #E®F [ F 3] 24004 4 [1182[#MR 55 =EE 2| [24069
5 |1817[54 Hht | £ & 1 24072 6 | 350[#E MEXE wAE= 1 24514
7 [1259tM 23 [daEem 1] [2.4867 8 [1950|FH #fEZE [& £ 3| [2.49.84
9 [1941]@/& $= [& £ 3| [25259 2117|=8 =7 EE® 1| [DNS
13628 )Il =& F [KAEE 1] [DNS 1420|8 mizE ¥ 3| |DNS
(B [FE | K % FRE P S5k
1 | 197954 &kl = £ 3 2.20.36
2 | 1117/ =R mEER 3 2.29.92
3 | 1970/#m BE= = £ 2 23181
4 | 440|HhiE Bk mED 2 2.32.22
5 | 1952|fA# R = £ 2 23543
6 738|mH Bt = 1 2.36.54
1332|¢TH =% |®FAEE 2 DNS
1331|¥8 % |RAEE 2 DNS
thig ZF 8 OmH ) _
8 | B |BE= | K 2 | ERE = ek |fE | B |EE KE % | R4 F SC &K
T 1 | 1447]|[@E = # 11q[13.15 21 11120180 3int wmER  2[ql13.24
2 11980]&@ ZE» [ £ 2[ql13.27 2 | 652|&= ENF % B 1[ql1357
3 [2217|x #& =EANE 2| |14.17 3 |1643|=)1| Fi%s %AILE 2| [13.84
B 4 [1228]=/" et [W@EEpm 3] [14.39 el 4 [1977|5+tA = = = 3] [1472
2| 5 [ 637][EH B [#% # 1| [15.25 15[ 5 [1966] A% A = = 2| [1478
m 1989|MA ¥ = 7= 3] |DNS m| 6 [1450[%& L A7 2 11 [15.14
1645[Jbt 2 ®AILE 2| [DNS 1772| 5% B B FE 1] |DNS
719K m&  |h = 2] [DNS
3] 1 | 649[&=A =25 % 5 3|ad|GR11.75] 4| 1 | 114|%H ¥ BAE—  2]q12.99
2 | 928[#E &R [ E 2[ql1287 2 [1641(HE H3FE #AILE 2[q13.26
3 16493 megy  [®KFWA 1] [14.61 3 [1329[#R =k wERE 2| [13.95
B 4 [1253][dhF unrd |wmEmE 1| [1479 Bl 4 [1953|[5HF &% = = 1| [1479
21 5 | 127|2&X =B |#%AH— 1| [16.02 1775 [1648]/ME £1h #mAEILE 1] [14.86
m[ 6 [1179[E&s &5 [F&FE 2] [16.80 m[ 6 [1967[#E H¥m [& £ 2] [15.25
7 [1962[3% 0@ %#® [= £~ 3] [16.83 71378 E£E& f = 1] |DNS
A & B | K % ERE P S8k
1 [ 649 [=n =% |% 5/ 3] 11.87
2 | 928 [#E £ [ E 2 1270
3 | 114 |[=@ ®n  |[mhH— 2| 1281
B 4 [1201|a0 &t [#Em 2| 1295
22/ 5 [1641 %M »%E [®mAHWE 2] 13.00
m| 6 |1980|&@E = = £ 2| 1304
7 | 1441 A% = 2 11 1335
8 | 652 = E£w& [ 5 1] 1376

22




rh TF 35584 X 100myL-
& = ({5 B | &5 e [{EA)
Ml e | w4 K % R4 F4- EREk & | #4% KE 4% R4 E-| EREk
178 A = Ral 2 ] 200 ¥R 56 ®WAH— 1 1
1 | 1170 B £ HEERE 2 2 54.78 2 | 240 BE £& mAE= 1 2 55.63
1174 FiE OF RER 2 3 241 R Rk wAZ 13
1181 HIll kKFy HEERE 2 4 243 INI| K mE= 1.4
T4 ZH %5 BE— 2 ] 1953 5 fE% = 2 T 1
3 115 lueh Bz MAE— 2 2 55.79 4 | 1958 |LUAR %1% x 12 56.09
1 113 Xi&h BEF ®KAH— 2 3 1973 %0 & x 13
108 Bt SEF MAE— 3 4 1983 £)I| B= = 1 4
1771 F O i< ¥ B T 1 877 B4 bhia & & T 1
Wl 5 | 1768 =l B R 12 57.87 6 | 1808 AJIl &y # 7 2 2 59.86
1706 &#H E£B&E & 2 3 1821 AKX #R #E A 2 3
1709 ;kH W& e 2 4 1818 1£fE Erx & 7 1 4
1204 /NI B fazEem 2 1 641 1BE D& w A T 1
7 | 1202 BA BK R 2 2| 10167 627 FH & WA 2 2| DQ3-4
1256 #E)l| Z=E RER 13 637 B E= M A 13
12565 =H B EEm 1 4 642 i o] 1 4
1430 KT I+ Z 7] 2178 BE #% ERml 2
1 | 1442 NIl &< # 12 52.83 2 | 2192 §1E &% EEAE 2 2 54.40
1441 B8 = 2 13 2148 ¥\ HEE EE®m 33
1420 HE Hhhia K 2 4 2174 £ FA &K EEFH 2 4
436 @A BET KAHM 2 1976 KR (= = 2 3 1
3 | 438 Akt A& MAEMm 2 2 54.56 4 | 1974 EF BERE & £ 32 57.49
2 437 %k =& ®AEm 2 3 1977 £+8 = x 3 3
440 HF KK Ll 2 4 1947 #J8 BB F = = 3 4
735 HE H= CE T 1 520 pafE B4 Z A 3 1
Ml 5 732 &M dhoE 12 58.00 6 | 539 FE &K = 12 58.07
730 Bk BEFE dhoE 13 508 I8 Y p=a: 3 3
734 sl MM oE 14 512 IV sh& = M 34
1329 ¥R ZERE WARE 2
1326 /N, 28 BMERER 2 DNS
1367 HZE X¥F HKARE 3
1363 LA ZEx wEEE 3
1228 =)m &M, o=l 3 1968 = D% = = 7]
1 | 1201 &0 Fumt reEm 2 2 53.50 2 | 1966 A% TER x 2 2 53.59
1220 # 1+ RF Em 3 3 1980 5@ =¥ x 2 3
1221 3)Il B8 HERm 3 4 1967 MAH HTy = 2 4
50T R S E 2 H 3 1 210 Fgg MELR ®KH— 2 1
3 537 B+ B = 3 2 53.77 4 | 223 @R B WA= 22 57.27
3 506 Bi5 BE # H 2 3 221 XA KE MAEZ 2 3
509 A& XX 2 H 2 4 220 Nz E WEZ 2 4
719 B/K BEZ CE 2 ] 1762 ILH = R T 1
#| 5 720 %mE 2 doE 2 2| 1.00.49 6 | 1770 £ &= R 1 2] 1.0282
738 mFHF B&1E o= 13 1767 86K =T|= MR 13
718 BH = G 2 4 1769 7kEH =8 R 1 4
333 xH H= ME= 2
341 mHh FA mE= 2 DNS
342 FH #0OY KWH= 2
340 B BHE WA= 2
031 K% =B T = 7] 607 &= =& w5 7 1
1 928 # + & ry o 2 2 54.52 2 | 649 E=A =% WA 32 54.92
96 BH FUH g = 33 628 H /NE WA 2 3
922 54 BE i 2 4 650 EA HE3E w7 3 4
1646 %’lﬂ EXR BAELHE 2 1 1254 #% =M% WEm 1 1
3 | 1643 =)I| #ifE MAILE 2 2 55.44 4 | 1251 =& #iy rEE 1 2 56.74
4 1642$\$T BT MAILE 2 3 1252 =3 #E8 rEE 13
1641 2mMg WE MAEILE 2 4 1263 thf UAD W@ 1 4
538 B5A Hix = H T 1 1756 1t A% M R T 1
#Ml 5 513 Eﬁi?ﬁB%‘E HE B 32 59.72 6 | 1771 tkie =% ¥ E 12 59.91
507 JIlIg 3 = H 3 3 1758 IRiR #Z2 W E 13
503 (L& %u = H 2 4 1765 = 3 ¥R 1 4
1961 54 J&EJE = 2 2
1975 F)Il #% = 1 2| DQ3-4
1954 Hlg AR = 2 3
1960 B2 & = 7= 1 4

23




1078 Bk =X = 3 538 FF L B& w5 T 1
1940 ¥8 = x 3 2 52.20 2| 611 BEE # WA 2 2 55.57
1982 Bl BAR%E & 3 3 652 B ENDFE W A 13
1987 #3 EZ = 3 4 654 tHH ¥k W A 1 4
1449 mzt: ES 12 T 1 2217 * tW=s BEEAMNE 2 1
1445 2@ U H ¥ 12 55.84 4 | 2212 593 %= +74% ERHAME 2 2 58.00
1450 ff%m EE ] ¥ 13 2213 MEHE K% BEAEAME 2 3
1443 BX T8 ¥ 1 4 2216 3RO IREE RELME 2 4
7363 IR FHK T 1 737 Bl =& f = T 1
1355 ki FK 12 59.92 6 | 740 B EH& hoE 1 2| 1.0051
1356 HH 13 736 ZJI| LA —X & = 13
1359 ¥AKT ZEmt 1 4 741 KR FTHE A= 14
349 FA MEFH T 1
347 LA 1R 1 2| 1.0067
350 FriE ME3E 13
348 AR F1E 1 4
NO = FRE ERL) NO i3 LS (ﬂa'u)
H-p K_ Z E-4 b JIE | A-p K g |ERKEZ F-4 =
1978 Ak =X 3 ] TZ30[ KT 717 7 7 1
1940|138 =& 3 2 2 | 1442\ )1 &< B 2 12
1982|%bL BARE 3 3 52.21 1441|m% = 2 13 52.45
1987|#63 Ez 3 4 1429|@.F phA 2 2 4
T257[F1TH B T 1 19685/ D% ENE 2 1
1201|800 Bupt 2 2 4 | 1966|A% TEE. x 2 2
1220|3# + RF 3 3 53.05 1980|&M =1 x 2 3 53.47
1221|301 =18 3 4 1967[#8 pem  |& £ 2 4
NEEEEE] 3 1 2178|BE ##% ERfl 2 ]
B37|E L F 3 2 6 | 2192 ﬁﬁEﬂ 187 ERA 2 2
506|E15 BE 2 3 54.07 2148 |k & EE®m 33 54.34
5094 X3 2 4 2074[FH &3 |EEAE 2 4
3T|ESH =k 2 1 I36(EA BEBF %Al 2 1
928|# t 3 2 2 8 | 438|dcHt X ®AEM 2 2
06lEH FUH 3 3 54.46 437\ =4« ®AEM™ 2 3 54.86
92| H =BE 2 4 440|E K ®AM 2 4
¥ EEk _ REE
BE K% 2 =0 5% g | EE K4 R% =0 5%
1 9006|BFH FYH 3] [1.45 2 | 1443]BA F& #% 1 145
3 [2191]ikE Ent 2] 11.35 4 | 108|d# mF wHA5— 3] [1.35
b |1328[MAEH Bx = 2| [1.35 6 | 113|K&EHR BEF [HF— 2] [1.3b
7 |2116][&IL #®BE 1 1.35 8 | 628|FFHE /NE # /2] [1.30
9 [1960|%=fE & 1 1.25 10[1765]Z B MR 1.25
11 [1448[#\% %2 1 1.05 1111709k #E B rE 2] [1.25
13| 219|175 MBZE (¥ 2] 11.20 13[1432|&7 % BE # 2 [1.20
15 | 349[MA & |* 1 115 15| 663[FE BR WA 1 115
17 | 1356|{kE FHxk 1 115 17702 &S ¥ E 1] [NM
1769[kA %8B 11 INM 64142/ O F ® A 1 [\M
1981|BE ¥ 2] INM 1756|3t% ¥ B E 1] [NM
337|883 Ui 2] [DNS 935|7E3E ZEHR # # 1] |DNS
1226|FaK ¥E 3] [DNS




ZF FEEB RS

g [EF =S| K& A S0k & B | &= K4 e S0k &l
1 607\ ZE& M H 2] [4m71-02 2 | 506|555 Be 2 H 2| [4mb4 -04
3 [1326[/h Z= WEER 2| |[4m52 -05 4 | 341|AK &FA WA= 2| [4m45-07
5 114421/ )1 &< 5 & 1 4m44 -0.2 6 | 734|5% B == 1 4m42 -0.8
7 [1430|x)Il #1F |#& 2| [4m34 -02 8 | b1/ HAFE [ H 3| [4m23-07
9 [2174|%TA &P |EEMA 2| [4m17-07 10|1978|A# k& S £ 3] |4ami6-10
11 ] 922|19H# BFE |t E 2| [4m14-04 1211973/ 0 &= = £ 1] [smi3-10
1311976 j(ﬂ x=E = = 3 4m11 -0.2 141 1256|38)I] ZBZ& mEMR 1 4m10 +0.0
15 | 220[/\kz & ®HF= 2] [4m09 -0.7 16| 730[Fk B% doE 1] [4m07-12
17 [1974[FF T [ £ 3] [3m99-1.0 18| 53884 HXE FH O 3m94 -0.1
19 (194738 EEF [ £ 3| [3m93-08 20| 221| KA K= WAEZ 2| [3m92-02
21 |1949|BaF 5% |& /2 3 3m89 -0.4 2211257 |g1H FEER WEMA 1 3m86 -0.2
23 | 515|Fkx & 2= m 3| [3m85-08 24 |1706|%H =82HF |#& 2] [3m82-09
25 11726k E =EFE  |# 3 3m76 -0.6 26 [ 12047/ B [mEwm 2 3m46 -0.4
27 |2213|MH KBE  |FBXME 2[ |3m38-02 28 11943| LH ¥ x £ 3] [3m28-09
29 [1771| O Hik e 1 3m24 -0.9 301988 5@ Bk = = 3 3m16 -0.9
31 [19755F I 8% = = 1 3m10 -0.3 32|1762|ILH £ M E 1 2m83 -0.2
344 (1L ;XK wmhE= 1 DNS 132718)I = WAERE 2 DNS
ZF A (2.721kg) _ REF
B | &= KE £ e S0 g | &S| K 4 % = S0k
1 1219 fals wE  |fEEFAm 3] [10mIl 2 | 93115 =4E M E 2] |[9m86
3 [1218|FH E/\H |fmEm 3 I9m77 4 | 638[HE BE ®_ A 1 I9m71
b |1944|E/F BAHE | 3 Im15 6 42| ER HBH [MAEZ 1 9m13
7 (12277 HFH B |REZERA 3 8m68 8 [1428|%FH =85 ¥ 2 8m68
9 |1202|BAR EBK MEMR 2 8mb64 1011964 |FE (ZC = = 3 7m92
11 116|FH BX wAE— 2 m77 1211954|FE HE = = 2 7m41
13 [1942|HE XKk = £ 3 7/m39 14 | 1640|&k FF=E WAILE 2 7m35
15 [ 1959 |MM HH S = 3 6m89 16| 112|(dF B WAE— 2 6m89
17 | 937\ Im#& E 1 6m38 18 | 12b5|FH BN, CETCE 6m16
19 [1963|HA #A S = 2 6m13 20| 651 %ELU S w_ A 1 5m41
18184k =k |J& 7 11 |DNS 1809 Btk 825 % 78 2| |DNS

25




